« 5 819 H (B

[O-655RFT]

B aIERF >

TSR Iy H—TJ4—IUR
JOwvy 1

BSr i - 2 9:00| (®)Lazos A/ @) EABEX2
% Lazos&5sa B VS DL IFm+#&
" Bl 0O-0 % 1-0 & 1-0

BFFS] - 2 0:55| @M/ GE)EEHax2
W BE Lazosi&ia A VS BER"F
m R Bl 2—-1 #® 2—-0 &t 4-1

ARFfi] - 24 10:50| ®eex/@E)EEAHax2
Xt B &R = F VS BT
m R Bl O—1 # 1-1 3t 1-2

RFRS - 25 11:45| ®2<2/ @) &Eakaxe
o Bk Lazoszsd B VS BEXYZT
m R Bl 1-1 % 2-0 &t 3-1

B - 2= 12:40| P &E#/ @E)EAHEX2
Xt B DL IFP+# VS Gicd 1L Yy

m R Bl 0—1 % 0—-3 & 0—-4

ARFf] - 24 13:35| (¥)Lazos B/ @) &EABEX2
Wi B Lazose&iA A VS HH—7

m R Bl 0O-0 # 1-0 & 1-0

BSF R - 25

X g VS

m R B - B - B -

BSF R - 25

PO VS

m R B - B - E -




